B RESMBEEEERS
pape B EFRERASKEERED

R O ZRE

HB{EWCR
3005
BiARR 7)

4 ~ 7 s it & AH

=P 4 4 2 K &



FOhELER O g

4 8 x M it
bt



A& &

Bom e — R R E ik, ZER N FRBIEENEE.

APEEA. BRFEE, 2BLT300EREME, i 10F &
B, RAUA ST ALRBOME . AHNEmE R F B 2 H A2
BORE, LT HAM B . A B . FRE X EE . A5
T FESEBOM . AFESEEOM . O DB S R AR A . 45 e AU X
FEREEE., RKIEMS SRR, —B. =8, EFdt, ibigd
TE AL )5 2 T A S0 SRR ARG 4 S Bz B ) A AR 4 ERRE 7 o

EEEMRSB (CIP) T
AT B A OB B g — IR BREHARAE, 2011
ISBN 978-7-03-030667-8
I8 T4 MOFAlK V.OG8S.2
of [ AR AS PR CIPEUEAZ T (2011) 25531485
FriEmiE: A0 4R R / wERE: LA B ¢
FAEEP A RiEE / HEiH MR Eh
HELFHEOXAF RS  HIE

http://www.okbook.com.cn

M# 3 &k B B R
de st A R AL 165
WEB i : 100717

http://www.sciencep.com

RAAFLRLAPHFRLE  EPh
BREHMMBARAT B N AR

*
20114ESHE — KR JIA: BS (720x1000 )
20114ES 45— EDKI Epgk: 15
EN%¥: 1-—5 000 T 302 000

Ef: 28.807T
(ONAT BN SR R, FR AT 60 D28 )



RS TR A 3t



6 EEL R 4R 3 ME B A TR RIS T BUE T AT S XFERSEN].

7 A B d Bk, SOk A S I RO B AR SRR, T
TR EATEEME I UGE T GREEEEEEY b, ZHRERERE, AL
FLEXT R B R B RO R H R R, i
2T RANK RO . AR, R RO . RS EES
RHESEHOM . T DB st SRR, G SRL30ME R, IR AR
FRAETALIN A28, FCHERE B 5 EAEEIFWE, AIU24 ~ TEREM B % i 4,
T LA 3 4 [ B TR B SE S AR, T DA TS 431 2 50t v 3 I s M JRE 4
M PRI ROEER

BOphEE B St Rk A4 (World Puzzle Federation) H[EMHE—
2 RHLK, FRIEELE R E R K, e RO T, H2011458E, R
PhAR FR 2 5 T FLEOME BSR4 T 26, Bk B SR A ek P E TSN
FRAF— J T Lk AR AR B AR, WO RO Bk 2 A KA R AR R
FTEBOMBE B S R, Bl — R 2 kR, AP EEC
R AT B B SCA R IR X, A S IE R B B i, X R e
FERONA BB AT L, IRAEERIR BT , PASEERAT
BB 7 E RO Rkl ) 3 kRl

HORAE
20114528 Faw



B1E NALEIR 1
B2E  AHNEIR 19
3T RFHIR 37
BAE RSN EE

$5E  FBEIR

$6F BWRAEIR 91
7% THESHER 108
B8E ELEM 127
BOTE TESEIH
E10E TSHE

% £

bb

73

145

163

181



b

X L IR



HLR

BERF I ZTREATHA, HEST. 85 84M3X3E
FREMNERBRMALARBLNIZIAFTER.



*

E=e

*

=

FE NALEIRE

5

i puzzle

3



g=e¢ g

= o




* i puzzle

=6 o

9

4
4

2

5
8 9
) 2
4 8
4

*

‘i puzzle

=6 ot

FIE NALEIRE 5



= o

o
N

=




*

<

g2

*

10

2=

3
2 9 4
1
8 4 1 4
4
) 8 3
3
4
6 O
4 /] |5
9 X6
1 9 8
2 3
8

FE NALEIEA

g

g

7



BByt in



4 %k puzzle
4
2| |7
8 1 3 7 33 2 5
4
3| |4
21\/9
11 |7
1 **\ puzzle
52
4, |1
5 9 3 9 -1 4 R
4
8| |7I\/9
6

BIE NALEILR 9



7| |6
2\l 7
8
£33 4 ] 4 8618
3[\]6
14
4
3| |4
1 8
118 [\J6
7 3
E=e ] 9 4
1 2
1
679 o)
4

Bt ja

10



* %

5
3|5
e Lo | 41D
2 9
9 7 31 4 o
8 \| 1
5
6|8
/
79 *k puzzle
4
o1 14
2 1
3 1 233 2 R
5\|8
4
8 5

FE NALERE 11



